AUSSIE SPARES DIAGRAM & PARTS LIST
AUSSIE GMP PUMPS: B3XR-A wiITH HYDRAULIC MOTOR

Aussie Pumps

Cat ASGF
5860 6014 6213
J! | 6186
fs' 7551
7 °/ =
‘ 7135
_1 ! 6030 5814 5455 FSVSO 6316 61‘99 53‘36 63’26 H294 6297
) ) ) " / / # 7 /
| PO F A P
- / SN S T A S S
T 4 : / g / / / Ho 4
S / / 4 / 4 ,/’, p '3 4
- / / / #
/ / / A // / £ // 4
/ // / < v 7 - 3 ///
WA L T
LY XS ///,77/& Z /,\\_ ] d
L . / — S R '
B 3 s
ZNSSSNNIe S
— I S
Fa16—" e
6178 —
§265—""

N\

‘ | \ v
5053 6197 H284 8315 H285 H281

\\ !

97 6243 5349 6321 e

e = NG

} i
6209 F593 6339 P2

Part Number  Qty Description List price Part Number  Qty Description List price

5053 1 Sleeve G 1005/1 $26 7135 4 Washer 10x18x2 $6

5336 1 Oil Seal 40x62x10 $15 8315 4  SCREW T.E. M8x35 $3

5441 2 Flex. Gasket 0.2mm $13 F476 1 NutM12x1.75 $15

5455 1 GreaserG1/8” $8 F550 1 Shaft Stainless Steel AISI 316 $631

5577 1 Pump Casing B3XR-A $2,288 F593 1 3-BL Impeller B3XR-A $642

5814 1 Support B 3XR-A $1,052 H281 1 Hydraulic motor PLM 30.34 poa

5860 1 Valve Body B3XR-A 5440 H284 1 COUPLING FLANGE $186

6014 1 CheckValve complete 3102 H285 1 SUPPORT FOR HYDRAULIC MOTOR $419

6030 2 Flex. Gasket Imm 13 H294 1 Flexible Coupling $776

Sl 1 Gl SRS e 24 P297 1 Counterface G 1002/4 365

6178 1 Washer B 2901/2 36 P587 4 Screw T.E M12x25 $6

6197 2 Snap R!ng E25 522 S816 1 Hydraulic motor PLM 30.22 poa

6199 1 SnapRingl62 $6

6209 1 Conical Tap %4” Gas $7

6213 1 Conical Tap 1” Gas $8 REJUVENATION KIT ...

6243 4 T.E.Screw M 12x25 $7 SAVE ON BUYING INDIVIDUAL PARTS

6263 7  OEB Screw M 10x30 $3 . : Includes check valve, mech seal,

6297 4 NUTTE M10x50 $5 (?Q%Eé;( BIRAHYD ﬁ?“”.te"face’ gaskets (items $329
ighlighted yellow)

6305 4 NUTMB8X1,25 $2

6316 1 Bearing 3305 $193

6321 1 Bearing 6205-2RS $65 g v

6326 1  Key B 6x6x25 $7

6330 1  Key 6x6x15 $6 % /

6339 1 Mech. Seal 25-47-14 $46 Qualty

10 9001

®sacioaaL

Australian Pump Industries Pty Ltd | 7 Gladstone Road, Castle Hill NSW 2154 | P: 02 8865 3500 | F: 02 9894 4240 | www.aussiepumps.com.au

All prices EXCLUDE GST GMP/OCT2021/1



